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13 13 FAH RIE R 2 & DNF
16 16 K2} BB T 3 EI% DNF
19 19 K EBX BB T 2 EI% DNF
22 22 B0 5tH FREE 2 fE DNF




30 | BF BAO-KRL—R RS result |
NO RID K % Fr B P =] time g3z
26 26  HEA GEET FRE 1 BEA DNF
28 28  BIR EE FRE 1 BEA DNF
30 30 f®KEA JUNFERR 2 BEA DNF
32 32 AR AE JUNFRR 2 BEA DNF
34 34 BREFK JUNFRR 3 BEA DNF
35 35 7HE B JUNFERR 2 BEA DNF
36 36 EEIEA JUNFRR 1 BEA DNF
37 37 dedt BE— B 2 BEA DNF
38 38  /NEF IOFE B 1 BEA DNF
39 39 KIFIE EEE 1 BEA DNF
40 40 AW B EEE 1 AE DNF
44 44  Z4EHE T il 2 K5 DNF
45 45 kiR BT RIRFRE 2 K5 DNF
46 46 A £X RFHE 2 i) DNF
47 47 Bl FlzE RIRFRE 1 K5 DNF
48 48  B5i5 AR AFHE 1 i) DNF
49 49 W in= RIRFRE 1 K5 DNF
50 50 ABEX RIRFRE 1 K5 DNF
52 52 KH BN Hiss 2 K5 DNF
53 53 HWMER APTE 2 K5 DNF
54 54  {2H RDEES 2 i) DNF
57 57 EO&A LS 2 =% DNF
59 59 A K L 2 =% DNF
60 60 IUTF #&AR L 2 =% DNF
62 62 EW g LS 1 =% DNF
63 63 =% &% S 1 =5 DNF
65 65 ST EX FEMFE 3 =5 DNF
66 66 Mk RE AEFEZE 2 =% DNF
67 67 HIHEL FEMFE 1 =y DNF
68 68 FFH iz AEFEZE 1 =5 DNF
69 69 1BE BiEE AEFEZE 1 =5 DNF
70 70  HPIEA AEFEZE 1 =5 DNF
71 71  EXKE ELR = 3 = DNF
75 75 I8 EN G 2 B2 DNF
79 79 KZTF & [N 1 =] DNF
83 83 ttE &K JbHigk 3 T DNF
86 86 fIFE A& JbHigk 2 T DNF
87 87 Xk 88E Jtehig 1 SR DNF
89 89 KB =5 3 TR DNF
98 98  #ilE KK FPERTE 3 S DNF
72 72  HE{CH G 3 ERE DNS
92 KBB (DA SRR T 3 SR DNS
93 K3 8 BT 2 S DNS
94 Bt Bk BT 2 S DNS
95 wa FR ShEE T 2 Ptk DNS
96 A BB BT 2 S DNS
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